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Rdwr: () 39 UT-UT § oot 30 v &1 el v sifard €
Directions: There are in all 30 questions in this question paper. All questions are

compuisory.
e 2 FeiRa 3id 378 wwya 3ifea £
Marks alloted to the questions are mentioned against them.
YIS T3 B SHIED Uied aT Ffud IR afore|
Read each question carefully and answer to the point.
e ST 1 SEfaseia v &1 39 YR & T W@US & IR H IR fdded
fedr e &1 wY e 31T TRy R 3§ faRRae) we v 2 9 9 9@ FiRaa
FTRIT 5 2
Question No. 1 is muitiple choice question. Four options are given in
answer of each part of this question. Write correct option in your
answer book. Question No. 2 to 9 are definite answer type questions.
ST T 1 BT IS TWUS TP 3 BT & T I 2 I 9 6 U 3 B
g2 €| U2 @1 10 15 Ao &l 37 & U & | UIH TR 16 | 23 b A
3 P W &1 I T=T 24 W 30 9P TR 3ib & WA B
Each part of question No. 1 carries one mark. Question No. 2 to 9
are of one mark each. Question No. 10 to 15 are of two marks
each. Question No. 16 to 23 are of three marks each. Question No.
24 to 30 are of four marks each.
39 99-UF & 99U R IS e T8l & qenfy sfiua weet # siaRe faee
e fobar Tam &1 B weHl # aet U fded T &Y 37K el

“There is no overall choice in this guestion paper, however, an internal
choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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1. (®) v foea= it foreas o ard o & &1 39 f9ea= &1 pH-39 I4ad: 2N 1
A solution turns blue litmus red. Its pH-value is likely to be-
(i) 10 (iy 4
(iil) - -0 (iv) 14

(@) vIHTgD 31 BT TTaiD G 8-

The chemical formula of Ethanoic acid is-
(i) HCOOH (i) CH,CHO
(i) CH,COOH (iv) C,H.OH

() Fr=foRea § o9 3wt sifaares 8?

Which of the following is an amphoteric oxide?

(i) Na,0 (i) M™gO
(i) ALO, (iv) SO,
(o) FefoRea & 9 o @1 uey g4 22
() FgieH (i)  ImRITE
(iii) TS (iv) SRCIBRF
Which of the following is a plant hormone?
(i) Insulin (i)  Thyroxin
(iii) Oestrogen (iv) Cytokinin
(5) AMa 3 & for 9 § {6 awq &7 vicifows &9 &, 98 &
(i) o= (i)  uRaRaer
(i) g (iv) gieuee
The human eye forms the image of an object at its-
(i) Cornea (i) Iris
(iii)  Pupil (iv) Retina
(@) foega sferier &1 S.1. 79 &
(i) de (i) 3|
(i)  ERmR (iv) 3Mg-Hex
The S.1. unit of electric resistance is-
(i) Volt (i) Ohm
(i) Ampere (iv) Ohm-meter

(B) U 37adeT o Bf Wicoe XY 20 JHY &1 ST &THT B1lY-

The focal length of a concave lens is 20 cm. Its power will be-

(i) +2D (i -2D
(i) +5D (iv) -5D
233 (HGI) [2]
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=) i &1 g 3T & 1

() DIE SHRITaNES iy ©H
iy W (iv) 3w
The main constituent of bio-gas is-
() Carbon dioxide (i) Ethane
(i) Methane (iv) Ammonia
2. Waﬁﬁmam%ﬁaﬁaﬁwmma&mﬂﬁw@a@%\ 1
Write the name and symbol of the metal that exists in liquid state at normal
temperature.
3. Freed g s 35 fore < wier fetat - 1
Write the balanced equation for the following chemical reaction.
Hydrogen + Chlorine — Hydrogen Chloride
4. 3MGTD MW$W?meﬁﬁﬁmﬁ@l 1
Give the number of elements present in first and second period of Modern
Periodic Table.
5. I Gmod eg § 9e 9F B UeE T €7 1
What are the components of the transport system in highly organised plants?
6. Wﬁmﬁawﬁﬁwmﬁmm g? 1
What is the frequency of alternating current (AC) produced in India?
7. g Sofl &1 MRS HAS F0 ? 1
What is the commercial unit of electric energy?
8. Wﬁmmdam%mmé? 1
Which instrument is used to measure biood pressure?
9. @?@ﬁﬁﬁéﬁﬁg@ﬁ:ﬁﬂaﬁamﬁmﬁmmﬁ 1
Which element is mostly used to make solar cell?
10. ETFSISHIEROT aar%‘?sﬂﬁeasaﬁ@ﬁ@ﬂqﬁm%ﬁ@m 2
What is Hydrogenation? Write its one industrial application.
11. ﬁm%ﬁ:@ﬂa‘iﬁmﬂluwcﬁ:{mmﬁ%@— 1+1=2
Give the IUPAC name of the foliowing compounds -
(@) CHs— Ci —H
{
O
(@) CH,-C=C-H
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12.

13.

14.

15.

16.

yicraci! fopa aam 22 widad fosar # aRaws o Fan giee 22 2

What is reflex action? What is the role of brain in reflex action?

BT YCTYOT Tl &7 WahIeT eiguT o fore dYerr ded) Jeer 32 = 9 )al &7 2
What is Photosynthesis? Where do plant get raw materials required for
photosynthesis?

R-ge A 5% e €° 96 MaRYT & o fod UeR & &% 31 7an Sl? 2
What is Hypermetropia? What type of lens is used for correcting hypermetropia?
‘v srEie T daT 8° W Dol 2

What is 'Chipko Andolan'? Clarify.

(@) 19 AT o7 B o] BTSSR 37T | S 77l & i Bt 1 1 e

a? 1
Which gas is produced when dilute hydrochloric acid is added to a reactive
metal?

(@) 3 diR®! B e 35 T &ldT &2 1
Why do ionic compounds have high boiling point?

() S & al o) & = foe | 1

Write the name of two allotropes of carbon.

17. @ @l 'x' dU7'y' & UREW] HHIG HHT: 11 TAqT 17 &-
Two elements 'xX' & 'y' have atomic numbers 11 & 17 respectively-
(®) 'x' ATy DI FAGTID G [iRagd | 1
Write the electronic configuration of 'x' & 'y'.
(@) e 'x T Yy’ 3T o ¥ wat Reg €2 |
Where in the periodic table, the elements 'x' & 'y' are placed?
(M) dF X Ay 5T ISR & 3 (SFRIA AT KOMIH) SR 1
Which type of ion (cation or anion) will be formed by the elements 'x' & 'y'?
3REI/OR
rfeRaa difiel o seag ™ fowg Wamm afsra- 1+1+1=3
Give the electron-dot structure of the following compounds-
() CO, | (") H,S HIFC.H,
18. JaHI] (ABI) Bt T+ 7t manfafer o1 avfa Hifse 3

Describe the structure and functioning of naphrons.
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19. WS qrad 97 &1 O R §9ed o 39 retaied i @ i 1%2+1%=3

Draw a neat & clean diagram of human alimentary canal and label the following

parts in it-
(i) FTER™ (i) I (i) &SI 37
Stomach Liver Large intestine
3RMEI/OR

g 31 3 ¥ Ple BT @ R §EY a1 gud FefaRaa Wi @t sifea Sifsa-
Draw 2 neat & clean diagram of the iongitudinal section of a flower and label the

following parts in it-

(i) TR (i) add™m (iii) 3STEA
Anther Stigma Ovary
20. (=) =T & e Frow falRea| 1

State Fleming's Left-hand rule.

(= ?%@H@ﬁAWBﬁWz 60W, 240V TUT 100W, 240V 3ifda &1 TUFT IS
sars) oo ufcRrer st grme 2
Two electric bulbs A & B are marked 60W, 240V and 100W, 240V

respectively. Calculate which one of them has greater resistance?

21. 2 7 oReY IR\ F W0 Bioo-

In the given circuit diagram, calculate-

() TR BT HeT YIeRTE 2
The total resistance of circuit
() oRwer # yarfed get faga e 1
The total current following in circuit y
4
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22. (&) m%ﬁmémm%?was%ﬂﬁm%wqmmam
e HH 8l &7 2

What is meant by spectrum of light? Which colour of spectrum deviates the

most and which the least?
(@) m%ﬁwq&%hgﬁgwﬁaﬁ%@#ﬁ?%ﬁﬁ@mm%? 1

What is the far point and near point of the human eye with normal vision?

53, wiRe ¥ 3T T S &7 wike ¥ UHie Bt dan PHe &7 3
What do you mean by Ecosystem? What is the role of decomposers in the
ecosystem?

3R[E/OR
oS wR 1 6? wm@wﬁmﬁ%ﬁmsﬂﬁ%ﬁﬁﬁwm|
What are trophic levels? Give an example of a food chain and state the different

trophic levels in it.

24, T AT & 319 (HaT D FHIGROT feriad)- 1x4=4
What happens when (write only chemical equation)-
(@) Bie & fear Ao grsioass ¥ o Sl &l
Zinc reacts with sodium hydroxide.
() Io-aw A R WY yared S S &l
Steam is passed over red-hot iron.
(M) msasma%m%mméaﬁﬁaasmaﬁma%aﬁ%l
Ethanoic acid reacts with sodium bicarbonate.

() e @ 373K a® R4 fovar S g
Zipsum is heated upto 373 K.

3AUdi/OR
) mmmﬁmmmmwg? 1
How many periods and groups are there in the Modern Periodic Table?
(a)uﬁaa'wymﬁﬂmﬁéséﬁﬂ%wgﬁ%lmmaw%ﬁaﬁ? 1
An element 'M' is present in third group of the periodic table. Write the

formula of its oxide.
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(1) IERAIBRUT JMThaT FT 87 TP 3STExT aIfor | 2

What is neutralisation reaction? Give one example.

25. () Yiaw aifufteon < oor arad 27 FrefeRaa sirfsan & suafia o smafya vared
gaTga- 2

What is meant by Redox reaction? Identify the substances that are oxidised

and reduced in the following reaction -
MnO, + 4HCl —» MnCl, + 2H,0 + Cl,

(W) TSI 0N FOT &7 IETER0T SR TR | 2

What is homologous series? Explain with an example.

26. (B) 77 & IRR ¥ 39 vl o7 7 feRed i B e wwae & fad ovall 2
1
Name a gland in the human body that secretes both hormone as well as

enzyme.
(@) IS b T9% & I9ANT DI Fellg a1 Qf STl &2 1
Why is the use of iodised salt advisable?
(1), THSTIE AT TR 317} &b Ueh-US 3ETERVT feiad | 1
Write one example each of Homologous and Analogous organs.
T) UHICHI a1 IHTT I BT Uh-Uab 3ERUT gl | 1
Write one example each of unisexual and bisexual flower.
27. (&) YARGHGH (Jo1==) T1 G 3 3T FT FHI &7 2
What do you understand by Regeneration and Budding?
() ROTOT T FFiee # 3R W Hifeid | 2
Differentiate between Pollination and Fertilisation.
3R[EI/OR

(B) T DT DIBT (GRI) B TRIT SIS AT TS Brd| B aoiH diford | 2

Draw the structure of a neuron and explain its function.

(@) 7a 4 g &1 o FreiRor &9 gar &2 2
How is the sex of the child determined in human beings? :
28. foga s o1 Tmifea s Wik | gae Rigra aun srifaft wwemse| 4

Draw a labelied diagram of an Electric generator. Explain its principle and working.
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29. (®) 5 /! ol T 20 ! DI g ATl I oI B G 3167 & ergad @) T B
o ¥ % DI g 30 THI £, 9 witerd o Reifer, wgpfer @i sneR s ahifor|

3

A5 crh long object is placed perpendicular to the principal axis of a convex

lens of focal length 20 cm. The distance of the object from the lens is

30 cm. Find the position, nature and size of the image.

(@) gailed & FHT G ITHIH a9l Jaid sl 82 1
Why does the Sun appear reddish early in the morning?
JFJar/OR
(@) U I o GRT il avg B FfeiRae Rerfedll § 3@ R e & a9 & foe
haa fdRUT 3T F189, 5719 ] - 2

Draw only ray diagram to show the formation of image of an object by a
convex lens when object is placed -
(i) o & BIHT F GO THI815 H% O & S &l

between focus F and optical centre O of the lens.

(i) o9 Fg2F & aaal

between F and 2 F of the lens.

(@) ore1 arg ¥ 1.50 SUETHIS & Did A Y99 AT & | ra § YD DI Tt o anire
Ay H PRI B AA 3x10° HITX/IHUS B 2
Light enters from air to glass which has a refractive index 1.50. What will

be the speed of light in giass? The speed of light in air is 3x108% msL.

30. (&) TGAUSH H TSI IR $T FIT Hed &2 HNSi IR & U & ole DI | uard
FARERIT &7 2
What is the importance of ozone layer in the atmosphere? Which substances

are responsible for the depietion of ozone layer?

(@) TOiaRol-fHF &9 & e 319 319 areal d &9 3 uRads o 9o 29 2

What changes can you make in your habits to become more environment-
friendly?

* %k % %
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